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1. A customer wants to create a New Start Center template for its technicians. Which object does
the Start Center template need to be associated with?

A. User Group
B. Person Group
C. Security Group

D. Role

Answer(s): C

2. A pharmaceutical company has made a tremendous number of configurations in their
development environment in order to meet their business requirements and the government
regulations. The company is ready to move 25% of these configurations into the test
environment. How should this be accomplished?

A. Create a package of the appropriate configurations. Then use the Integration Framework to export
those configurations. Finally, use the Integration Framework to import the E.

B. Export the XML and then import it again as appropriate into the test environment.

C. All of the configurations must be brought over. It is impossible to define only 25% of the configurations.

D. A package of the appropriate configurations should be defined and created. It should be distributed
and then deployed into the test environment.

Answer(s): D

3. Which group must be changed to expand the set of initial security rights for all new users?



A. MXINTADM group

B. MAXREG group

C. DEFLTREG group

D. MAXIMOUSERS group

Answer(s): C

4. Which data element is required to activate a site?

A. Bill to contact

B. Site contact

C. Ship to contact

D. Active organization

Answer(s): D

5. When the customer chooses to use self-registration for user records, which statement is true?

A. Arecord with status NEWREG has a workflow, ACPTREG, that automatically creates user records
matching entries in the LDAP database.

B. A record with status NEWREG has a workflow, RVWREG, that changes the status of the record to
PENDING while the user request is being reviewed.

C. Arecord with status NEWREG has a workflow, SELFREG, that automatically creates user records
matching entries in the LDAP database.

D. Arecord with status NEWREG has a workflow, SELFREG, that notifies the user that the request is
being reviewed.

Answer(s): D



6. A link has been added to another Key Performance Indicator (KPI) when designing a KPII and

it has been displayed on the Start Center. What happens when the related KPI link is selected in
the KPI portlet?

A. The related KPI is displayed in a separate window.
B. The Start Center KPI changes the related KPI.
C. The KPI Manager application opens showing the related KPI.

D. The KPI and related KPI are shown together on the Start Center.

Answer(s): C

7. Which two script engines are supported by automation scripts? (Choose two.)

A. SOAP

B. Jython

C. Mozilla Rhino
D. PLSQL

E. Mython

Answer(s): B,C

8. Which two statements are true about the Workflow Administration application? (Choose two.)
A. It allows users to accept an assignment.
B. It allows users to start a workflow process.

C. It allows users to view or modify assignments.



D. It allows users to stop a workflow process.

E. It allows users to delete a workflow process.

Answer(s): C,.D

9. What is true about the Chart of Accounts application?

A. Itis a site-level application.

B. It is a set-level application.

C. It is an organization-level application.

D. It is an enterprise-level application.

Answer(s): C

10. Which statement is true about a craft record?

A. There is a one-to-one relationship between craft and skill level; multiple craft/skill level combinations
require multiple craft records.

B. A craft record is comprised solely as either internal or outside labor resources.

C. All labor records belonging to the same craft/skill level combination will use the same standard rate

D. A craft record that is referenced by job plans, labor contracts, or open work orders cannot be deleted.

Answer(s): D

11. How is concurrent user information monitored?



A. Set the mxe.mbocount property and review the output in the log file

B. Set the mxe.db.logSQLTirneLimit property and review the output in the log file

C. Set the mxe.db.fetchResultLogLimit property and review the output in the log file

D. Set the mxeusercount property and review the output in the log file

Answer(s): A

12. Which classifications are valid?

A. bearing, roller, 1041, AN421

B. bearing/roller, 1041, AN421

C. bearing, roller, 1041/AN421

D. bearing, roller/1041, AN421

Answer(s): A

13. Which statement is an example of a replacement variable in a condition expression?

A. :owner.id = &user&

B. &old_

C. location, description

D. &owneré&. jobplan.Priority

Answer(s): A

14. Where can a user assign a new person to the active process in the Workflow Administration
application?



A. from the Reassign dialog box

B. from the Main tab

C. from the List tab

D. it is not possible to add a new person to an active workflow process

Answer(s): A

15. Which statement is true about synonym domains?

A. Synonyms can be added to the values that ship with the product, but internal values cannot be
modified or deleted

B. Synonyms cannot be added to the values that ship with the product, but internal values can be
modified or deleted

C. Synonyms can only be added to the records managed by the SYNONYMS table

D. Synonyms can only be added to the application created with the Application Designer

Answer(s): A

16. What is required in order to make a new Currency Code available to the applications?
A. A user must define an exchange rate between the default Currency Code and a new one.
B. A user must make sure that the Active flag is set.
C. Read rights for each Security Group to this Currency Code must be granted.

D. A user must change the status of a Currency Code to Active.

Answer(s): B




17. What does the Schedule field refer to when creating an escalation?

A. The scheduled days of the week for which the escalation path is valid

B. A scheduled timer that is set when the condition checked by the escalation change, after which the
escalation fires

C. The schedule by which the escalation will poll for conditions

D. The scheduled working hours of the escalation response team

Answer(s): C

18. The Conditional Expression Manager is accessed through which system module?

A. Security

B. System Configuration

C. Administration

D. Integration

Answer(s): C

19. How can an administrator configure the system to automatically send an e-mail to the
helpdesk manager when a service request record has been in NEW status for over five days?

A. configure the e-mail listener

B. create an escalation

C. create a communication template

D. create an action

Answer(s): B



20. When creating a Launch in Context entry, what also has to be created to make the entry
available for user interface controls?

A. Java Bean Class

B. Signature Option

C. Conditional User Interface

D. Security Group

Answer(s): B




